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Graphs of Quadratic Functions
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State the transformation from the original graph. n
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Describe a sequence of transformations that will transform the graph of the function f
into the function g.

1. fx)=x2+4 tog()=(x+3)2+1

2. f(x)=x2 to g(x)=2(x-1)2+3

As Transformations:

Parent graph: y=x* parebsla.
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Describe the transformation(s) from the parent graph y = x* to the new graph.

1 y=(x+22-1 2. y=-20x-12+3
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From Text pg 233: 51 %\:K

A rancher needs to enclose two adjacent rectangular corrals,
one for cattle and one for sheep. If ariver forms one side of the
corral and 240 yards of fencing is available, what is the largest
total area that can be enclosed?
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